3 2N
D'VWOIN D019V , DTN
VTN NNON



VWOIN 0*11011 019V

WINM TN 22 R?7 ,NVWOHN 2VW "VOPRNN RN @
221D 1IRMNn @
N1"MI21 00190 @
(NMMMODLNN) NNRPND ©
(N1P2N NM'R¥PND?) DTP "WIN @
NMNNOPR ®
NP2NN? TWPN NR JWNN IR @
NMONN :VIWOD DIDV NITYI DT @

3PN -1 n1DIN



00190
STACK [G]
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2D07 W1 1D1RDD DI1DV 2222 171D J2NPND M1 VNID RIN G
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STACK [ACCOUNT]

1R
STACK [STACK [ACCOUNT]]
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NnMYpPild

push: STACK[G] X G - STACK[G]
pop: STACK[G] —p STACK[G]
top: STACK[G] —-p G

empty: STACK[G] — BOOLEAN
new: — STACK[G]

(M20V10 ®?2) N'P2N N'XPND PO =,
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:¥PON NP'NNA T amnn 01900 YW T'PONN DY
PN 2W PO TR pAVvOID [ @

(creator, constructor) 'xkaa ®n mx¥pnon
: PNN2WYRDW TRA Y VOID [ @

(query, accessor) nn,RW RN RPNON
PN YU ORDY TRA DN PN TR DA VOID [ @

NTIPD RN N'¥PNON

(command, transformer, mutator)

R127 NONMNN R? ,NPMTN R21 N'PO2N RN MXO072pPN) @
(NMOPNMIR 1ND N121YO NPNYN
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n'P2N N1XPAODI PO0V7 1D

pop (s: STACK [G]) require not empty (s)

top (s: STACK [G]) require not empty (s)
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MNIMOPKX
For any x: G, s: STACKI[G],

Al e top (push (s, x)) = x
A2 e pop (push (s, x)) = s
A3 o empty (new())

A4 e not empty (push (s, x))
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NINTMOPXR NMTY2 21v'N

D1N1N 0190 2W N121YD NITO? RNAIT? DNMN)
new()
push(S1,X1)
push (S2,X2)
pop (S3)
top(S4)

: A2 NPIOPR NR 2'WD11,NIANN Y¥I)

pop(S3) = pop(push(S2,X2)) = S2
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QWnNA) NMINITOPRN MTY2 21V

: AT ND1OPRI WIN'W 1IN ,NNIT 191X
top(S4) = top(S2)
top(push(S1,X1)) = X1

E2

D1PN2 OXR 02 12D ,S51 W Y2 19N NP2 1VWNN MY @
NMW 221 TV ,NINNKR M21YD 1YyRINN NNWKRIN N21Y90N
X159 E2 1
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(1) o1d>*0 - nmaonn ADT

Types: STACK [G]

Functions:

push: STACK[G] X G — STACK[G]
pop: STACK[G] —p STACK[G]
top: STACK[G] -p G

empty: STACK[G] — BOOLEAN
new: — STACK[G]
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(2) m1>*0 - nmaonn ADT

Preconditions:

For any s: STACKI[G],

pop (s: STACK [G]) require not empty(s)
top (s: STACK [G]) require not empty(s)
Axioms:

For any x: G, s: STACKI[G],

Al e top (push (s, x)) = x

A2 e pop (push (s, x)) = s

A3 o empty (new())

A4 e not empty (push (s, x))
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ADT vy 1y

IR 112N NMV2NNN WOIN ,I1OR R1N VWIOIN D1I1N] D1DV @
210N IR 1107 Y'Y 218N 112D, WIN™M

20 NR MIRNN IN12D) 2nnLw 115w ADT n NYTanw yT1 R @
.(?M"0122%70 MNDNN

20NN ON2 NNOV e
:ADT 5w nm11bon
(sufficient completeness) npoon Nmnhw e
(consistency) nmpy e
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ADT mv1a

no1 vn L (well formed) no%n> M2 ADT moa e
D191 1D0N) N 1'ANN 11011 ,N1'RP11D2 WNNWNHW
(DVINIAIRN

nR (correct) 1oa xn f(X1,...,Xn) nd%nd> 112 ADT mona @
oR , 9w nTpn "Ran NR O'POON DNV ,0M01 Xin Hd
TN

N'¥P119NW MV RIN (query expression) NN2IRW MY @
N2WNW R0 170 NNINNN
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push(s,x)
push (x)

push (x,new())
pop(new())

14

ADT u"a% mienart
X: G, s: STACK[G] nw

1102
nD2ND M2 XY
nd2ND M1a XY

1101 ®? IR ,Nd%ND M12
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ADT v npson n1nhw

(sufficiently complete) poon nhw 2an T ADT
€ ND2?2ND 112 MV 207 ,NMINNOPRNN VIIP? 1N OR P OR
JIDIRINEe DR e

N12N2 (1101 NNYRW 1TV RINW €112Y) € YW 1DV NR ®
1 019010 7Y QR 2710 11RW

RNANT?
top (pop (push (push (pop (push (
push(new(),d),c)),b),a))) =
top (push (pop (push (push(new() ,d),c)),b)) =
top (push(push(new(),d),b)) = b
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ADT v nmmapy

NNY'RW MM YOY DR P OR (consistent) "apy xn ADT
TR 7Y NN 202 V1P NMI21D NIN1OPRN, € Nd?2nND M2
. €My

NMNMvn

NINON 22%) MNHWN N1IDN 1N NMAPYI NPOON NNHOW @
(TNR 7Y M0 225 / TNR Y

DMPN2 NDIN 1NN IR ,NIY1D X2 N1IIDN N2R YYD 1Ok @
Jmonn? 11anw ADT o 1ay Ywn% ,0mmon

16 3PN -1 n1DIN



np»nNn% ADT»

RN IR PON wInm oy ADT R0 npPnn e

YR (NTW) NOT ™Y NpP2nn2 mumnn ADT 2 niypno e
JNw

J2'0ONR 112207 DMV 211'¥P11O N1IDN 111200 @

DXYD YO1') 02V1 1TAINN DIDVAN NIRNIN IR TVNID @
TVn

(ORNW TR "M TR VO1R T) NnTIipd 10N ADT mypno e
NTIPD - 2¥NN NXR NIWUNHW NNV NDDIN

NTINND P2ND NP2NNI DMIRWI DTPN "RINT NINTOPRN ©
.NNR'22 NIMI2 MP2ND 2V 1271 ,)"WNIW 1107 @
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(D™122) 099031 oY MpPY’nNn

NTAN NMWORND NXR‘A ( 5.0 D2 NXRIPI) 1.5 RO1AN YNin @
.02 D'NNWI N1Ma Mphnn

AN IR TNR RNW 22 01DV NTAD NN NPYND @
.D"WwYwN oMo 11N2 (type variables) o190 anwn

DTIP 2NDIW TIPW NWMITNI) NDWY NINIRNN NO01NN 2PV @
Mo 2V D"71pPwM L(WTN TP DY TN T2V 2O
.D2D71N DN 0™M122 00190 1222 NOWN VYD, WINnMN

RWI12 PNTY NN JWNNA .DIWON MPNRN DR P AR YD @
.011'O 1NN

kN 1¥"Y IntCell np%nnn YW nYYoNn - NWRY ®RNDNT @
DN NN'WI2 D'RNN 2OV 1O, T MLPID DIDVN 111NV
.01970N 1NIRD
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public class Cell <T> {
private T cont;
private Cell <T> next;

public Cell(T cont, Cell <T> next) A
this.cont = cont;
this.next = next;
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public T cont() A
return cont;

t
public Cell <T> next() {
return next;

+
public void setNext(Cell <T> next) {
this.next = next;

¥
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public void printList() {
System.out.print("List: ");
for (Cell <T> y = this;
y !'= null;
y = y.next())
System.out.print(y.cont() + " ");

System.out.println() ;
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2nP2NN2 NMNWA NN

T 019700 NINWN 9011 NP2NNN NINIDO @
(NNXR 07172 MR DN 0190 INWND NINWVWY 221PN) @
Cell <T> XN YT21nwW D1DVN @

ITNIN 019V 7221 ,"INT NINWN ,N0UNID ,ATW 2D YW D1DVN @
T 2 9%n1 Int n'nw Mw Hw

IATNIN 019V 7221 ,"INT NINWN ,NUNID ,ATW 2D YW D1DVN @
Cell <T>29%nm Cell Nnnw NMMw W
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12 D19V WIN'W

,NMNWD 2V NINXN2 ,?50% W? M1 D1DVI WNNWN? D @
12W D190 NINWN 2D 112V "VIPNP DIDV ,RI12? RPN
Cell <VersionedString> xna1»

NINWN ,N2 IRMP1 (MW IR) NNW NITAaN2 NA1721R] @
A2P110 TUNID YN NNAN NP2NNPN NITaN2 D190
JORI1VPR TVNID VN RIN VIPNPN D1DVNI

212" 1R IN17D ,0%Y 2W N1'N? 21N VIPNPN D1OVN @
J12'0'NMO N1NY

X% ,0%W 100N XN1N DIDINW D'RN 2VUN? XY DI DR @
Cell <int> 21n10% 1M

(wrapper type) o001y 001907 PPTI NT Y @
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(wrappers) n*'ov1y n*'019"0

:DXY D1V NNIXR'A2 OMP VNMD DI1OD DY @

boolean byte |short

Int

long

char

float

double

Boolean Short

Byte

Integer

Long

Character

Float

Double

(MNwn R? DXY W 71Y) D'W2IPN D'OVIVA D01DVN 72D @

YWNY) DRYI TR W TURD DMWIN'W D'OVIVN N'019'VN ©
(™22 D19V WIN WA ,0™DIY 2W NODIR N'XN]

17101PMD D19V 2 TUNITVIR 1AYN MWORN 1.5 NIR2 ©
NDDIPNN NRXRIN IR “ROOIP” N ~ 1HW qLIYN D1DVY

Integer 1 =
int n = 1;

24

0; // autoboxing

// autounboxing
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1M22 01902 WIN'WY ntNna

Yw nYYon Rnw , Cell <T> 2 nwnnwnw NpPHYnn Nra°
IntCell 2 nwHPNWNWL NPYNDN
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public class TestGen {

public static void main(Stringl[] args) {
Cell <Integer> x = null;
Cell <Integer> y =new Cell<Integer>(5,x);
y.printList () ;
Cell<Integer> z= new Cell <Integer>(3,y);
z.printList () ;
z.setNext (new Cell <Integer>(2,y));
z.printList () ;
y.printList () ;
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17132 019V WUIN'W Y T1Y

D2 (AONID ,"INT NINWDHD ,NTVY) NINWN 1TaN? 1N @
015'0nn

Cell <Cell <Integer>>

207N 019"0N A" NN ®
O1NNR DY NN 2W RNDAIT @

Cell <Cell <Integer> > q =
new Cell <Cell <Integer>>
(new Cell<Integer> (8,null), null);
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npP>nNnN% ADT n - % natn

D) NMONN 11¥M7 Stack <T> nmaa np?nn 1Mwdoy NR1 @
ADT 2 nh1ainw

NTINN DR MP%21D Ty NN NIyn @
ANR RN RN Opost OTp "WIN M¥N Opre ann ®

NP2NN2 WIN'W 1N) NMWIPN NN™WI NITY] R1N WINMN @
Cell <T>

1NN RN (Cell <T> NnPa1T1d) M122 DIDVI WIN'WN TWURD @
1102 177N L, ( Stack <T> Swn%) NNk N NpP?2nn
127NIR N2 NP2NNN 2W M12 NINWN R1INW D1V DY NINWDN
. (Stack) nrxyna

(DT NN 012N R? D™D DINWNN NINW) @
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/ **

* The Stack class represents a

* last-in-first-out (LIF0) stack of objects.
* Initially the Stack 1is empty.

* Q@param <T>

*/
public class Stack <T> {

private Cell <T> top;
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/ *kx

* @pre !empty()

* Qreturn the top element

* /
public T top () {

return top.cont();

¥
// note that we decided to use the
// same name for the method top()
// and the private field top. This
// need not cause any problem
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/ *%
* Add an element Q@param t to top of stack
* @post !empty()
* @post top() ==
*/
public void push(T t) {
Cell <T> x = new Cell <T> (t,top);
top = X;
¥
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/ *%
* @pre !empty ();
*/
public void pop() {
top = top.next();
¥

/ *kx

* Qreturn true 1if the stack 1s empty
*/
public boolean empty() {
return (top == null);

¥
¥
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,N1DNNN 21201'R P20 V1IN ANNN 29X N1IDNN NDW2I) @
(NTINN NPTA? TP IR 1DRY 12ONIpPN

DN 29D 71721,AMIXR'22 DDONINW NPRD 02D 1D0N DN @
NXR JWNNW NIONN 11N2 TR "N Nw” 7y 0910
(ONRN RN DTPN "RIN 20UN?) DMIR™212N DMVIN

NNW? RY) RN RN X2 NN DDOMX D'RINN D2 @
1NT) NON® 1NN NI'N? "X D21V L(MTW W DDV
(v1ap

DMIR212 0DMVID 12NDOM DWRINN ©
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Qunn) APPnNn YW anna N2*Nd

R2ND DTN NN X2 WION 191X 21NDIW ATINN 107 @
(ADT n mTan2 y»210W NN 205 NR QpWNHY)

N'O011 D'XRIN (DN 22 NNYN) 02" 9'01N2 N @

T 1INWN R? DMMMON DINVWNY DIMRHDW D'RIN 10NV @
11010 WM ,V12P R? INT NNP? 210 D2I1WNW D'RIN NPR
DN NIRMAW? N 0P
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nTinn NX 2171 AN mp‘)n
WINMN NR R21,ATINN IR 21 NIXRNMN AP2N0N 2W Mpon e

VIRIIN "MNRXR 212V 22100 N1N2 IR NIP2n ,13R1W D) @
.T2%2 nnnin 0 %y

1"Tn NR 2'na ANty VersionedString np%nn% mma e
.NTIN2

NR 10NV RN Qpwaw VersionedString Yw nnna e
MNA? NpPW RINW ,getLastVersion NM1'win YW D'RINN
NR NONWN 12 1D .getVersion(length()) nrmph
Jlength mwn YW PN DTpPN "RIN
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(M1DTN) ATINN :RNATT? AN

class VersionedString:

Initial State: length() == 0
add(String s):

Requires: s!=null

Ensures : length() == old length()+1

getVersion(length()) ==s

int length():

Ensures : number of calls to add() so far
String getVersion(int i):

Requires: length() > 0 and 0 < i <= length()

Ensures : return_value ! = null
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Wan axXDn - INXaN1 07PN *\Ran

V112W ,0MNWNIT O'MXY N2IN 0N ND1NN 2W NNDTa e
DMON 2N XN DNAN TNR 2D 11N)
A2 MTwN 20 YW 0DIYN R1N ORY 2W NN @

21V99 210" R N1M"W DN2W NMIDIN YW OMYAT DNARD VW e

3PN -1 n1DIN



NXRN1 DT *"RaN
NLINW D2AXNN NR IRND (precondition) nTpn Ran e
DN2 721997 210" NNM"YNW

POONW NRY? OR 7192 72101 GetVersion nnnwn ,2wn e
NNXR N012 MNOY 12D NODONNN NNV NR

D'NXYN YW 23NN NR IRNN (postcondition) 1ankn wan e
DTPN "RINW NNINA ,VRIND NINMWAW INRY N'D1N2
NV 1IRIP TWRD D"PNN

TVNW NMVIN GetVersion 2w NRN RIN ,20UNH @
1NW2D OXYY ONMNN AITNINN
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D'"NINN PV NAMMNTTYN TN

NR DMPY2 R2W 1NN NNV ,0"PNND X2 DTPN "RIN DR @
DTPN 'RIN TWURD NNWY IRMP ;DM0N R1INWD INXRN RN
N'1D1N2 D29 2V NTYNW N2PN NNND DMpPNN R? 170

21907 NMWY 1NN ,0MpPNN X2 DTPN "RIN OXR D2 2aR @
INRN RIN NXR D"PAN

NN NTNY D GetVersion NR wNN? 1NN ,2wns e
N012 QX 1MTY 11001N XR? ORXR D2

AN N2N RN DMON RN TWRD XM DA NN NNWH @
2N XY INRN WRIN INRND WIN IWRINNDA DTN 1DRDD
AW AXRDN DR P17 IRND

NTNNN? ONMNPD AITNINN IYNW N'VIAN? NN TWOR ,2WUNH @
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290N NIMNXRA X1 MNXRN 'RIN @

VPO DNV D'NNON "2 NIMNR 20U NN AP1I2nwr D e
.N1J1IN

17N2 W NP2NN MR NYT? 1N DPNAN 1R "RIN TURD @
.(NTIN2 D2D 121D DN D NR)
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T21V? NINMIW 50N :07TP 'WRIN W NPOYNN NPOODNY @
IR 122 DTIP DMON INT PID 1INPOYN NPOODN 2V NYTIN
TAYNI VN TNVNW
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011 XY 2V NYODWN

o'xinn VersionedString nnatn npYnn YW nnna e
1VN DR ,DNINWA YW D0INIANRN DR PR 121220
NN'"WN NR POONW DRYN NRT,NINRWND 1TNIND

DNNR DMNY 20 28N Y120 02 0910 19%0 DaAann e

LJ12R V DRYW ARND IRNNDW INRN 'WRIND P10D DN @
TNVN IR NIV NIXR POONW DRVN 1R T OXRYNI
ATNINN

NOWONNN PYN R1IN 01N DRYN @
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011 DXY2 ("1¥1) "R11? ’RV1N? A1

vf.add("ex2.doc","This exercise...");

"VersionedFolder NamedVersString VersionedString
strings: |e name: "exl.doc" n: 26
& values: @ ~ last: e ——>
Q \ NamedVersString VersionedString
. J
\ name: "ex2.doc" n: 26
values: @ ~ last: e ——>
[ [
0 [
[
NamedVersStrlng VersionedString
name: "ex9.doc" n: 26
values: @ ~ last: e ——>
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011 OXY2 "X 'R117N RN TWNN

17N NDIA2; TN MTINNN Y22 NDIA NDDI NRN RN
,This exercise... n"n* N>y ,ex2.doc nnww 17 ,]JNN NNR
JINWT R ,ARWN 201

‘VersionedFolder | NamedVersString VersionedString
strings: |e )[name "exl.doc"} )[n 27 w
o values: @ last: @ P
k} ‘:\\\\:\\\*[NamedVersStrlng )[er31onedStr1ngw
name: "ex2.doc" n: 27
values: @ ~ last: @ >

NamedVersString Ver31onedStr1ng
name: "ex9.doc" n: 27
: ~ last: @ ~J

values: @
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1227 RN 2VNNNW NN NXR 1121 WION R? T'PONW IR @
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D21VN 222 DTPN "RIN2 P R? 12N N21VON 2W 1121 VI @
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17D INXRN RN L2102 221 NTH NMWANW 1D DTPN "RIN @
TNV 2199% 1901 DINXR DNINVWY

X2 211810 DO, MpP20 DY ANNNN P20 DR 1770 D'2109N @
D1WN 112WNN NNNW "2 0DD0N 0N ;INIR MYD
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NnXR 2On 19w value nTwnw Version-% yvaxn last nTon e
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a7 3pP%N "1 NN



nPYNN YW N12151 NNd1N

NXR DMPN R1IN,WTN DRY 11D TWURD D NDN 'R IOV @
AR ANNWD

NDY1D2] DMPNN OR N1 NAPYNNA NNW YD May ‘2 1vYw e
NRIRI TR ,OMPND INNWNN DA DTPN "RIN NNWY
DMPNN INNWNN DA INRN 'RIN DPOD NMNWAND

NMD1N2 'R ,NP2NNN 2W DMWY VID D NDI 2%V @
DMPNN 12D RN OR INNVNN NR 1902 MVYW TP
NXR NIV 22100W 2011 'R ,712N 12WN W NA1721RD)
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DMXRY? NMONMNN "N R? NP2NN2 PIND TIp2W NVaNo
12101 DNOR D'ONMNN DNW DWAIPN R? D'NXRYY R 1990
(MTW? D'O01NM 1D0N 1NV 11OR) 12'011P1 191X

NNMXR WNT? 1N R217TH APTN 1TH NWNTN DNV @
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NMMUID2 NAY'AD DY NITTIDNN

DWAIPN "D'ONT7-W DMRYN :VIWD DN @

QNNWN X2 D'O1TW D'MRYN 2W 2NN :VIWD D DA ®
NLVIRMNIRI

-W 1'TAN2 127210 ,MYNPN 1N R? NMTNNN OR ,2WUNH @
127w MIN? NNINN? Mon™nNn 1NN getVersion
-2 NDIDINW TRN NNIR NI'W 1IXN TIPW
VersionedString

MINN TIPW D'UNT DTPN 'RIN NN PR DTNV 2R vina e
D'RINN ,227D 1N 191X 1R ,192TW DMNRYN NR NIV RY
1027V D"MXRYI DMININN DMI'WN NR D121220
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class VFIterator {

}

52

VersionedFolder vf;
int nextString;
public boolean hasNext() {
return nextdString < vi.strings.length-1;

¥
public NamedVersString next() {

return vf.strings[ nextString++ ];

}
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class VersionedFolder {
NamedVersString stringsl[];

public VFIterator iterator() A
VFIterator i = new VFIterator();

i.vEf = this; // nmIn% onm™nn MVIVWRN

i.nextString = 0; // nnwxan nninn
return 1i;
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VersionedFolder v = ...;

VFIterator i = vf.iterator();
while (i.hasNext()) {
NamedVersString nvs = i.next();
// DTMINW NMNNI D'WUHNNWDND

TN NMNNN 20 IR 'TNN? NDMX 17D NR217 @

MNR IR) NMOIVRY? NIRMPN "2 TITPN NR DIWD DR @
1101 ®2 7199 715V 210 ,(12 wInwn 11971 1M¥"

272W MYNN N2'NN2 MTN? 09011 0DMAR OR ,2WNH @
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TMVIVIRN "NIN'YW DWW OTPn *XRAN
MR 2D NXR 1N NMVIVIRY? Next MRMPW N'VIN? "IN e
TYTRN WIN™M NR 22207 22 ,"MTnn

NIIW?2 R 1MOIVRN TITHRN 2W NMIP2NN WVINT?2 "R DY @
MNLIVIRIY WIN'WAN NPT TN NR

DTPN 'RINA P71 2RNY 1N MpP2%0n Mot e

WINT? 0O 1MTVIVRN NNV W YW DTPN WRIN 1D @
N RN NINWN R? 1MVIVRN NR NTNNW ITHNY
MNMOVIVRN

55 3PN -1 n1DIN



nnNnOdWwnNa N1mMo

20 PWINAN PPN NWYN? RIN ;IRNDRY DRY 12'R 11VIVRN @
TN IRD,P110 RINW DXRYN

MNLVIVIRAN TITNN 2V WINMHN NR 1'NON2 TWOR R @

N7 22X ,MTHNAN NMVIVIRN 2V WINHN NR 1'NON? TWOR @
7D IMTNN 1192 WINMN NR 119WN R ;TN1NA 2'VIN R?
nextString NXR 0OBXR? 201 MTNNW

1101 R? 22X MOVIVRN 1192 WINMN NXR D'OWIN TRD @
2N1NR NMP2NN

MmTw :(package visibility) n2'2an2 mx12 nunnwn RO @
IR ,public, private) N1 an 22 DMTAINW YOIND
MMVIVRN ITNN ;N2'2N2 TP 20% W (protected
N'V27R 1N )T 21 JWNND ;N22N NNIRA N1'TN2 DDOMN
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NP2NN 2W DNWN DNV 1'2 DD0N R1N INNWNN @

DMPNW XN DRYN NR 1'RWA? DMNDON D'NNWN 2D @
D'N1NWN 2D NMINNT,0MTIN DN TWURD D'NMON D'RIN
DN? D'RP TWURD DNMPNN DRINNYW NIOX? DRV

MWD 22X ;0M"PNNY 2N X2 IDNWVNN MW VIR NPT @
ITIN R1NW 102 A NDOWNN NR ITNW? 2N

DXYN 2W N1NW 201N ROW 1NT2 DMPND INNTWDN ,NIPD @
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class VFIterator {
VersionedFolder vf;
int nextString;
public boolean hasNext() {
return nextdString < vi.strings.length-1;
+
public NamedVersString next() {
return vf.strings[ nextStringt++ ];

¥
¥
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vf points to aVersionedFolder object
0 <= nextString <= vf.strings.length

DMPN 1R RN 1P, vE==null ,A¥11 MOIVRN TWRD YarR ®
IMNWNN NR

M T HY NMOIVIRN NITY 21NNR T YV N'YIN DR 12ND @
10 .VersionedFolder.iterator () ,nxyn NR W
ANNWHDN NR DMP? NVIVRNY

XY INTW NIP? 2V 27002 TWOR WX ;NPR1ND 1NND R N1 @
1D ANNWNN DR DMPNW NNIXD 1NIR IR NMNRN DR
NN 2902 NYT? IR R? MpP2N
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1NN (DOR?) NMITW 2W "UNIVIRN 21INNARN OR D WIY NN ®
22DNVWNN NR OMPN R2W IXRNI 1IN NNY NTW DRV

12D DXRYNW RNV MIRV1D NTW 210 R? 228 MUODR NND @
R11P1 NTWUN NXR P71 NIN'W 20 ;0NWNDN IR DMPD
... IR 2NNIR R?” R1N INDNWNHN ;X OR 21NNR NNWHY

private boolean initialized; initialized to false

private void initialize() {
initialized=true; ... }

public someMethod() { all methods start like this
if ('initialized) initialize;

}
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(constructors) n*xaa

NNYW NR PMIN% NARIT NNXYI NDWN 210 1N NND @
IR INT ANR NNW INWTR PIW 1102 21NNRN

210" X1 ,0OXYN WD R1N "R12N DV ,NNR'22 ,11R1W DD @
INXR N1N'W 10D DYVINIR 22P?

class VFIterator {
private VersionedFolder vf;
private int nextString;
public VFIterator(VersionedFolder vf) A
this.vf = vi;
nextString = O;
¥
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class VersionedFolder {
NamedVersString stringsl[];

public VFIterator iterator() A
return new VFIterator(this);

¥
¥
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27NN N2 ‘X1

N2 W12 NPOON NNR‘A,(1NWHI) "RI12 VTN RY DR @
R21 D0IPMIR 2apn RYw (default constructor) Y1nn
D170 NW1Y

D'9v1do v = new Version() 1m> n™Mv'aw n1'ON 1T @
W1 NN R? Version np?nnnw Nno
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N1¥PNO D1 ,0'R12 (overloading) omyn? twor NMr‘aa e
NINNR

W' (scope) DINN 1MR2AW NWIT'D NI'RPAID YW NONYN @
100N NINW IR ,0W 1NIXR N2V N1'¥PNID NND
1Y NN NNIRNNN N'XPA1ONT ,0N019V] IR DMIVNION
J12V10 R0 NVW DMVNIODN O 2V IONIPN

712N WNHWN + 1MVIDIRN :DMTVIDIR NONYNY RNAT @
DMP) .MTNN NMWIW ,NOX NT1?12 0DMID0N 112N ,0MN%W
A(DMVIYDIR 1 TAN? 210" X2 NIODNNN 22X NNIR'A2
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D'1W D'01DVN "N NIRNN
class String {
public String() {...}
public String(String s) {..} copy constructor
public String(char([] c) {...}
public String(bytel[] b) {...}
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OV D0™R121 MLION 1M1 NIRN DY DRI TAN2 NIN Yy @
22N 112V 27NN NN TWNNWY ,T2%] N1"%%D NMIRMIN
n™M12N 2W DMVNIONN

class String {

public String(bytel] b,
String encoding) {...}
public String(bytel[] b) {
this(b,"ASCII") ; nInNx N N1'N2N NMIR¥NI

}

ORI MWV RAPI T @
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20 WIN'DN NR 1'NON? "RTOVW INIR VT'NN NNON MNMpY @
NXR NIV NN 1NMIW TD,N%W N1MpP2n 19N Np?2nn
NTINN 2V 21 DDPNONY ,NINIP22 YV12D? 20 WIN'NN

TN NP2NN 2W N121D1 NDIN21 ,WNN? ,]1DN? TWORN NT @
N1D1NN IRW? NMON™NN 101N 71N1 7272 NNN% NMoNM™NN

DXYN 2N NXR ,22D 7172 ,012222a0 INXRNM DTPN "RIN @

DMNO0IN L12W NITWA VIO ,ORVN 2W WINHN OR 7QR ®
2ANRN1 DTPN WRIN NR RVIA? TWOR 'R ,MP2nN
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,VersionedString W nnna 7'v0d1 112N @
add(String s):
Requires: s!=null
Ensures : length() == old length()+1
getVersion(length()) ==s
D'V MW NITYA OPITIONN 1IPHNNN DTN NN @

a¥N YW OMON VI'N NODWINW ,length ,NN?"RW NTYa @
RV

N2W T2 IN12D ,MTMPO 2W D'VINIANIR? NMON"NN T Yy @
DXRYN 2V Y'own Mpon
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250N NT D"NYDY

WIN R 1"TAN2 TWOR1L,NPO0N 1T NWIAN ,0MPN NN @
1M2VINYW D'UINIAIRNT NIN2RWA NITYI INRN DTPN

NINWN M2VYN "NW 1TH Nnwnas e

NR 17202 NIN 2V NWTN NOW RRNN? TN 'R ,NVURT ®
N'TNN NN?2WRVWW Y2 ONMNNY NIX? VD ,NATINN RN
NN'WN VIR "NXR ITNINW V21 ,N1N"WN YIRI] 199

,ANXY NI1IDNN NOWI VLYND D'VIIN D'RINNW 111"ON , NN @
D2D RIXN? NIN 2V 2WNH% ,NX¥M NPT DNIR P1TA? TWOR
27910 DYDY 2aR 727V R? IR ;N1D01MNA

WINM2I NIMYV :1TN N2VNN WINM 11921 D210WDN "N @
NINN N1OWI MpP2NN 2'NIN2 N210N1 ,NIN2WRVWN
TWNN2 1201 DTN 21WDNN ;DMNRY
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NITYI D'RIN N1INN2 N1I ROV IR TWOR 'R ,0MYODY Zar e
T2%2 DVINIAIRT NINIRY

(abstract state) vwoin AP DTAD ,NPRD DIPNI @
n%an DXRYNW

(concrete state) wnin 2N DNMNAN ORYN W MTYWN ®
DMON LWOIN 2NN ANV

D'VWOIN DNAXD DMIARMD DMNRY ,NIP2N Nya e

2W DN DTN ,ANRN DTPN "RIN) NTINN DT NP @
TWNINN ARNN RINW 218N 2W R ,0WOINN ARNN

nR nonn (abstraction function) nobwonn Nxpno e
VWOIN? "WNINN 2AXNN
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class SimFloat { DYWNN DMDON 21XMY NPHYNN

private boolean nonpositive;

private char exponent;
private char fraction;
+
A: SimFloat 2> Fc R NLWONN 21D 2W NITVN DINNN

A(nonpositive, exponent, fraction) =

(nonpositive ? -1.0 : 1.0)
* )(32768-exponent) * (fraction / 65536)
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NLUWONN N'¥PID 2V T1Y

MDY TN-TN R? 228 TN RN NMXPNION DMIPHRN 21N @

22R ,LVWOINN ININA PINTA TNR Y DIRNND 218" HDH @
LWOIN 7Y 202 OM1¥M 1D0N 11ONM

VN IR fraction==0 ORX :0"218¥™ N2n W' 0-2 ,NANA1Ta @
DMINRN NITWN W 7Y NN 210N X2 ,0 R1N AN

A(nonpositive, exponent, fraction) =

(nonpositive 7 -1.0: 1.0)
* 2(32768-exponent)

* (fraction / 655306)
A(np,e,f)==A(np,e+1,f/2) ,qonar e
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NLUWONN N'¥PID 2V T1Y

N'PY2N XN NMXPNON DNV @

DARMD DIRW (NTWUN DY X)) DMWNIND DARD DIW? @
LWOINN 2NN 1NW?D 7V

R1n ,12"%W R0 N nTwn Y ork VersionedString a2 ,%wnY e
ANP2NNN 2W VWOIN IRD AR XY

D190N D'NXRYN NN'WI IR? NMMW 11'R N TWURD 21D @
.MV v1avp last nTwnw Version

DMPY DD MTWAW D'RINN NR TAN 211N IDNWDN @
LOWOID AR ARM TWNINN ARDAW D
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public add(SimFloat alpha) {..} nnaty mw
requires: nothing
ensures: A(this)==round( A(old this) + A(alpha) )
A NLYWONN NMXPND NN L1ND VT R? Mpon e

VWOINN AXNA 11V 1 TAN NTIPON YW ANNN ,NIPYN Nay @
190N NYAPNW round NN L12'Y N'XRPIIDL WIN'W 71N)
(NVLWONN N'XPND YW F N1TV2 1DON NITNDI WNHD
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NLUVWOINN N*"XpPI1d1 PO0N Niil

MWW NDIN? W PpODI NTIPO 2W N111D1 NN 1D
LWOIN 1Y 1NIR? 02210 NNIARYTA D1200N

N
N
K
\X?’
&
\ N
SRS
¥ D
8% >
X=A(X® >0 4
A round (x+y) Ax-

X® add(y) > ®
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RINW TRND 21WN ,N1P20 N1MINRA RN DTPN "WINW MOnN @
21722 201" MP2nW "TD , 7222 MN?RW "NNPA TN
WY R1P2 'RWI R1INW (1N NT'NI)

NIIRD2W NIN'RW NP2NN NITAN? D'PYD? 011 NT N7 @
DT X2 P21, 00MNWD MUNT XY

2172% "MIRXRN 191R2 1N R? DNAW DMIPN JUNNL NRNY) @
(DTPN "WIN NXR R2N 1912

N1'N? 0210 (DN P2N 1IR) ,ANNWNN D1 ,NRN WRIN
101271 NN R? NT YT'D .0M0D 0DV NN DA DTN
WNNWI .AP2NNN 'PTNNNIT 12N1D% Y10 210 IR ,Mp2Y
imp_post1imp_inv D'an2
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,NP2NN NMIRMAWA 20071 ,0'W2N DTR "RIN VI1IApP2 1N e
NR 2270N1, 011V D'RWII 2V NIMINR 221VN NT 22X
TP 1O'NN

NP2 1"2 012 NDOW NWHWHW NP2ND 11X TV NNND @
J12NN 11'RW POD? 1PV

1119210 NMIONN (RNIAIT @

"0I1D NTW) N'D0AN MR PNION AV NNADNN WHNWN ©
Stack <T> o19vn

(underflow ,7TNR 210N 1RD) MRAW 2V YT RN ©
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/ **
* Stack with no preconditions.
* Initially the Stack is empty.
* Q@param <T>
*/
public class TolerantStack <T> {
private Stack <T> myStack;
private T default_value;
private boolean underflow;
public TolerantStack () A
myStack = new Stack <T>();

}
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/ * %
* Qreturn top element, 1f exists one
* @post if ($prev empty()) underflow()
* Q@post if ($prev empty())$ret==default_value
* @post if !($prev empty()) $ret== top elem
*/
public T top O {
if (empty()) {
underflow = true;
return default_value;

¥
else return myStack.top();

}

3PN -1 n1DIN



80

/ * %
* Add element Q@param t to top of the stack
* Qpost !empty
* @post top() ==
*/
public void push(T t) {
myStack.push(t) ;
¥
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/ * %
* remove top element, if stack not empty

* @post if ($prev empty()) underflow()
* Q@post if ($prev !empty()) remove top elem
*/
public void pop() {
if (empty()) {
underflow = true;

+
else myStack.pop();

}
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/ %%
* Qreturn true 1if the stack 1s empty
* /
public boolean empty() {
return myStack.empty() ;

}

/ %k x
* @Qreturn true if the stack is full
*/
public boolean underflow() {
return underflow;
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N172100 NAPINN2 WIN'WI RNAT

192 ,n222an 22 top 1 pop NR 2'woONn? 710 Mpon e
YN NMIDNNW

Q011 YT'N 122 D1DVN 2W 2TNPN Y TN @

2 NRMP Y N%pPN NMp OR 71722 210 MpYn @
underflow()

? reset_underflow () mw 010 "R1D MR ®
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public class TestStack {

public static void main(String[] args) {
TolerantStack <String> s = new
TolerantStack <String> ();
s.push("hello");
System.out.println(s.top());
s.pop();
if (s.underflow())
System.out.println("do not pop");
System.out.println(s.top());

s.pop();
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MN2RW?2 MTIPO 12 TON2 D'OTYN 1INIR ,11DTD @

ATNIN D1DV) Y NTNND R21,A8N NIWY NTYII NTIPD ©
(void

N2 1R IN12D .2XNI 11V NI R21 7Y NNTND RNIRW @
(side effect) w1 w¥In

N21V0 N12PYI DRY 2W NTW 2V 11V RN RN RXIN @
(ORXNM2 RN RN VPO IR VPP N71VD D) . NWD

RVIN - RN7NQWI YR 11201 1TNINW RNV RN DIwr @
LOWOIND "RV RN 11WRW "WNIND RN
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2DWOINN 2N "W P WD MpPYn e

0Mw 120N ,N"OY TN TN NI'R NnLWOHNN N'XRPITO TWURD @
LWOIN AN 1NIR NIR DIARMTPDY DMWNIN DARND (AN IR)

NIP20N T 2V WANN 1R NPRD DARD VW "2 1AV @
011N N12N 5w 7110117 NN N21DY NIRRT NY1vo @

DMO0N NARXMPDW NP2NN .0M2ADNN DMDON RNAT @
IR 1TVP 21X 2V DOIANW WIN'D 11N2? N21D' 0 2D1N
1910 1ym

(M2'N 2WNH) TVIP 21X MY YRI? TNMIW NI21YD VN @
(729D 2wWNH%) MO ¥ YRIAL 1NV NMNNRY

DM1XMN W NR (DMYD2) P TNN? 11N WY DY @
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021N W 112V (DMVID) NITW VPR 2D @

pP_X, p_y, p_rho, p_theta
PN D1RMN TNR NMINOD? 1M1 YA 2D @
9PN 1¥™ AR 0017 cartesian, polar o,y mTw @

MW RIP1 DTIPW INR? ,N1IN 2181 YRIND MW 72D @
PN 21¥M1NW NVIN? VIO

set_cartesian(), set_polar()
x(), y(), rho(), theta() mn»Rwn"2%2 e
add, multiply nmmpodn e
0NWINY sub, divide na nMTM
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YW DDV MWD set_cartesian() MW1oN MwN @
ANDN R1INW) AW 21ONNINN 190NN 2R ,0MVID NITW
set_polar () Da 2”10 . MNWN 11'R (VWODINN

NR NNIWN 11'R N2 D'NNW? MIRINPW NINRWAN 107 @
MTIPONN NMN2WRWA NTION IR MNMPNI ,VWOINN IRNDN

,12100 21180 112V 011 'R12 0D 117N :N1DD1 NMNyN @
(DN01D01 DMVLNID 1DON) NNT NNN 12W NNNNN 22X
JWNNA NT2 11TNY - NYAN NNNOD2 NINR 1T 10X DY
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/ **
* @imp-inv: cartesian or polar

* @imp-inv: if (polar) (0 <= p_theta && p_theta
<= Two_pi)

* @imp-inv: if (cartesian) p_x, p_y meaningful
* @imp-inv: if (polar) p_rho, p_theta meaningful
*/
public class Complex {
private boolean cartesian, polar;

private double p_x, p_y, p_rho, p_theta;
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/** constructor for cartesian only
*/
public Complex(double x, double y) {
cartesian = true;
pP_X = X;

p_y = ¥

} // the queries should have doc comment!!
public double x() {
set_cartesian() ;

return p_x;
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public double y() {
set_cartesian();
return p_y;

by

public double rho() {
set_polar();
return p_rho;

by

public double theta() {
set_polar();
return p_theta; }
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/ *kx

* Make cartesian representation available
* @imp-post: cartesian
*/
private void set_cartesian() A
if (lcartesian) A
p_x = p_rho * Math.cos(p_theta);
p_y = p_rho * Math.sin(p_theta);

cartesian = true;
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/ **
* Make polar representation available
* @imp-post: polar
*/
private void set_polar() {
if (!polar) A
p_rho = Math.sqrt(p_x * p_x + p_y * p_y);
p_theta = Math.atan2(p_y, p_x);

polar = true;

3 PPN -1 n1dIN



94

/ **
* Add the value of other
* @imp-post: !polar  Qimp-post: cartesian
* @post: x() = $prev x() + other.x()
* @post: y() = $prev y() + other.y()
*/
public void add(Complex other) {
set_cartesian();
polar = false;

p_x += other.x(); p_y += other.y(Q);
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/** Multiply by the value of other
* @imp-post: polar @imp-post: !cartesian
* @post: rho() = $prev rho() * other.rho()
* @post: theta() = ($prev theta ()
other.theta()) % 2*Math.PI
*/
public void multiply(Complex other) {
set_polar(); cartesian = false;
p_rho *= other.rho();
p_theta=(p_thetatother.theta() )% (2*Math.PI) ;

+}
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122 D111 222N NTAN? NWORN (N1"M22) NMP201D MP2NN @
.0Y2DN DNW D'MXYN 1107 ONMNNY

"NINIP21 POON "2 NNNN R DMTAN INRN DTPN "WRIN @

2D :PO0N 2W DNVWN D'N1NWN "2 0D0N R1N INDNWNN @
NR DMPNYW IX¥NI D21VN NR 1'RWA? N'VIN DNN TNR
AMNWNNW NN R1N NIINNAT RN R1N TWURD IDNIWNN
1N21V0 NR 270NN R1N TWRD D"PNN
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D'MXRY? NWI 172 WY D 2D ,0N"7R NWM2 W NNWUN POODN
NNDIN 2V NWPN DT ;ANNWNN NIR 0DMP2 DDON? I NOR

NN12N 2V1 ,N"D1NN 110N 2V ,N121D)

NR 1NMP'W 1D D'UTN DMXRY IRMH DMRINR O'RI1IN ©
NP2NNN 2W AIPNVWNDN

TWINM NR NMWNY 192 ORY 2W 020N P10 1MVIVR @

NN Y2 N1 "WNMIN 2AXN? VWOIN 2D "2 NIN2NN ®
ATY WWRNDR RN NVWONN N'NPAIO . MP2NN 20 Davn
.Q0Mn
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